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Note : Answer All Questions. All Questions carry equal marks
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From the following data, find out the missing frequency it the median is 50. The
intervals are given on the baris of exclusive method.

qrt Grirrf, (class lntervals) 3Trgfu (Frequency)
10-20 2
20-30 8
30-40 6
40-s0 8
50-60 15
60-70 10
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Explain the properties of a good average. ln the light of these properties which
why?
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Calculate the standard deviation of the following series.
Erf ol-iltrd (Class lntervals) urgfta (Frequency)

o-10 10
10-20 15
20-30 25
30-40 25
40-50 10
so-60 10
60-70 5
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What do you understand by 'co-efficient of variation'? Discuss its importance in
business problems.

Eo.r{/uNrr-03

sq?r 3:-(s .n.d $ ptt6o ff6q \s *o 6 s{at d frq rre ffi.Jr* 6l "rumr dfuqp
Calculate Co-efficient of correlation between the following figures of sales and
expenditures of ten firms.

q-d (firms) fum-o (Sales) q.r
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The following data based on 450 students, are given for marks in Statistics and
Economics at the certain examination.

Statistics Economics
Mean Marks 40 48
S.D. of Marks L2 15
Sum of the products of the deviations of marks from their respective means = 42075
Give the equations to the two lines of regression and estimate the average marks in
obtained 50 marks in Statistics.
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From the following data, construct Fishers lndex Number.
n-< (ltems) 2018

+1*rn (Price) qr-n (Oty1 ot'RT

1240
2416
3L10
4525

sTerrr (or)
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Explain how the'cost of living index number' are constructed? Describe briefly the
problems involved and suggest their Solution.
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Explain the role of statistical methods in business forecasting.
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(a) Find the probability of getting a sum of t0 or L2, when two dices are
(b) ln a single throw of two dices, what is the probability of getting a total of at
(c) Find the probability of getting a sum of more then 8, when two dices are th
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